Perimeter and Area-Answers
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Correct response

‘Additional guidance

Draws a rectangle of area 12

@
. 1by12
= 2by6
« 3byd
. 15by8

Draws a rectangle of area 12, with different
dimensions from one credited in part (a)

Draws a triangle of area 6

e Basc 5 prpndicula hight 2
= Base 4, perpendicular height 3
= Base S, perpendicular height 2.4

1 Lines not ruled or accurate
Accept provided the pupil's intention is clear

 Edge of grid used as edge of shape
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Gives the correct order of A, C, B accompanied
by one of the following explanations, whether
stated or implied:

Side lengths of A and C are 6 (or ¥36) and
9 (or 36 + 4) respectively

Area of Cis 81 (0r 9 x 9)

Perimeter of A is 24 (or 6 x 4)

Gives one of the correct explanations as above,
but does not order or orders incorrectly

Gives the correct ordering but justifies only
‘with reference to the side length of A
256 (or V36)

Gives the correct ordering but justifies only
‘with reference to the side length of C
259 (or 36+ 4)

‘Shows both that
the area of B is 1296 (or 36 x 36)
and the perimeter of B is 144 (or 36 x 4)

+ Correct order given in uncomventional way
Accept provided it is unambiguous
g, accept
* Area, perimeter, side length

 For 2m or 1m, side length of A implied by
6% 6 seen

For 2m or 1m, incorrect working or
incomect wnits alongside a correct response

Accept provided the explanation links the
relevant values to 36 and accompanies the
comrect ordering
e for side lengths of A and C
for 2m accept
~Ara36s06
perimeter 36 50 9,
Acs
“36=6x6
3629494949
ACH
for 1m accept
“36=6x6
ACH
However, 2s many of the relevant values can
be obtained from incorrect reasoning, do not
accept only values 6 and 9 seen
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i & Queston

bl Ks and ms
Correct response. Additional guidance
1m | Draws any shape with perimeter 4k + m 1 Lines not ruled or drawn accurately
™ Accept provided the pupil's intention is clear
t Multiple attempts with some incorrect
. R Accept provided it is clear which is the

e pupil’s final answer

Am | Draws any shape with perimeter 2(2k + m)
@

. 2mx2ms2 % Conect expression that is incorrectly
simplified
eg. for parc (b)
< amxm=3m
1m| Gives a correct expression
)
- 4
. dAxk
Hx2k+2

. (Bhxdh) 4
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e & Queston|

Ks and ms (cont)

Correct response

‘Additional guidance

tm | Gives a correct explanation

&

= They are the same triangle so 2n* = 4K
hence m = 24

= The areas of the wiangles are equal, and
if you divide 2n by 2 you get ',
divide 4 by 2 you get 26

= 1f you multiply both sides by 2, you get the
areas of the two triangles. Since they are
the same, they must be equal

 Explanation uses Pythagoras’ theorem
-
* Using Pythagoras, m = K +

/ Minimally acceptable explanation
e

1 Explanation equates expressions for parts
(b) and (c) that are correct but not simplified|
Accept as minimal provided neither
expression is a quotient or includes
a division sign
e, accept

< 2xmxma2xkx2xk
eg, do not accept
S 2mx2me2=dkx2ke2

Follow through
Accept only if both parts (b) and (c) are
incorrect, but not m* and 2K, and neither
expression is a quotient or contains a
division sign, and they lead o the
relationship shown in part (d)
eg, from (b) as 4 and (c) as 8K, accept
w8k

X Incomplete explanation
&
* The areas of the triangles are equal
* Divide them by 2
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Grid shapes

Correct response

‘Additional guidance

[ B and B i cither order

D and B i cither order

/ Shape A given alongside a comect response

1 Responses for parts () and (8] tramsposed
bt otbenvise corect
Mark a1 0; 1

/ The given shape C excluded
®

+ 29 more
iy
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Windmills

Correct response

Additional guidance

Completes the windmill patter correctly,ie

[_l

Completes the windmill pattern correctly,ie

! Squares not shaded
Accept provided the pupil's intention is clear
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Shaded shape

Correct response. Additional guidance

m| 18

1m| Draws a rectangle of area 18cm  Follow through from part (a)
e
3 by 6 rectangle
 2by 9 rectangle
4 by 4.5 rectangle

! Lines not ruled or accurate
Accept provided the pupil's intention is clear
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[rer & question|

56|

Grid shapes

Correct response

Additional guidance

1m

Band E in cither order

1m

D and E in either order

/ Shape A given alongside a correct response

t Responses for parts (a) and (b) transposed
but othenvise correct
Mark as 0; 1

1m

30

 The given shape C excluded
e
* 29 more
.29
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i & Question

Cuboids

)

explanation

‘The most common correct explanations:

Show the carrect surface area for both A and D
g
= The surface area of A is 66, but D is 40

Consider the number of cube faces that
are not visible
N
« Each cube in D has 3 or 4 faces that cannor
be seen but each cube in A has only 1 or 2
= Fewer faces of the cubes are touching each
other in A

Consider the number of cube faces that
are visible
e
= In A the cubes show 4 or § faces, butin D
its2or3
 There are more cube faces facing out on A
than on D

fsfaels7fe-
16[9[2 Correct response ‘Additional guidance
alala|im| Indicates Cuboid A and gives a correct ! Units inserted

Ignore

 Minimally acceptable explanation
eg, for the correct surface areas
« 66 and 40 scen
© 4x16+ 2is bigger than 4 x 8 + 8
eg, for cube faces that are not visible
« “There are fewer hidden faces in A
* Dis more compact
eg, for cube faces that are visible
« Cubes in A show 4 or more faces,
D shows less than 4
« A has more faces showing
« Ais more spread out

1 Use of ‘sides’ for cube faces
Condone
eg, accept

* More sides face out on A

1 Descriptors of cube faces
Note that pupils use a wide range of terms
to describe the cube faces
eg, for cube faces that are not visible

« Hidden faces

* Faces pointing inside

* Faces touching
eg, for cube faces that are visible

* Faces facing out

* Faces showing

+ Faces you can see
Condone provided the pupil does not
explicitly refer to the area of only one of the
faces of each cuboid
eg, do not accept

* You can see 8 faces on D and 16 faces

on A

X Use of ‘square’ for cube or cuboid
e
* You can see more of each square’s
surface in A than in D

x Explanation is simply a description of one
or both of the cuboids
e
* In Aall 16 are in a line and not on top
of each other
* Dis two cubes high

 Incorrect statement
eg
« Each cube in A shows 4 faces; D is 3
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[rer & question|

SJaesaoe] Cuboids (cont)

16/9[2 Correct response Additional guidance

B[b[b|1m| Indicares All the same

d|d|d|3m| Shows, in any order,all four correct sets of ! Repeated sets of dimensions
dimensions eg
o8 c1 308
10308 18 3(repeated)
146 2.3 %
2 26 6 2 2 (repeated)
103 4 Ignore the repeats and mark as 1, 0, 0

o % Negative or non-integer dimensions used

2m || Shows three correct sets of dimensions

1m | Shows two correct sets of dimensions
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Shaded shape

Correct response

‘Additional guidance

rectangle of area 18

o 3y 6 rectangle
2by 9 rectangle
o by 4 rectangle

/ Follow through from part (4]

¥ Lines wot rled or accurate
Accepe provided the pupsl intenton isclar
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fferent shapes

Correct response

Additional guidance

3m | Gives all four different correct shapes in any

ecientations with none incorrect or duplicated
@

Gives at least three different correct shapes, even
if there are other incorrect or duplicated shapes

Gives two different correct shapes, even if there
are other incorrect or duplicated shapes

t Lines not ruled or accurate, shapes not
shaded or internal lines omitted
Accept provided the pupil’s intention s clear

t For 3m, correct shapes duplicated even if
orientation is different
CGondone duplication of the given shape,
ie a1 by 4 rectangle
For 3m, do not accept other duplicates.

x Squares not joined conectly side-to-side
Do ot accept as a correct shape
e
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Paper

Correct response

‘Additional guidance

Completes all six entries correctly, ie
Area  Perimeter
Square A 64 32
Rectangle B 32 24
Square C 16 16

Completes at least four entres correctly
or

Completes ither column correctly

Completes any one row correctly
or

Gives an incorrect value for the area of square
A, but no 8, then follows through correctly, by
halving each time, to find the other two areas
8
. Area
Square A 60 (error)
Rectangle B 30
Square C 15

or

Gives the two columns transposed but
otherwise correct

t Follow through from part (a)
Accept as half their area of square A,
provided this was not 8, or their area of
rectangle B, provided this was not 4

Indicates that the perimeter is greater than
24cm and gives a correct explanation

848 + a number bigger than § s bigger
than 24

“The hypotenuse is longer than Scm and the
other two are Scm

“The diagonal s the longest side so it is
greater than Sem

§'4+8=128,V1285> 8

* The fold is 11.(...) (or V128)

. 18>8

« The longer side is about 10

« The perimeter would be more like 26

! Incorrect units inserted
Ignore

x Incorrect statement

=
* The longer side is 10
* The perimeter is 26

Note to markers: The length of the hypotenuse
is 11.3cm and the perimeter is 27.3cm, to 3 s.£
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Working with areas

Correct response

‘Additional guidance

m | Draws a rectangle of area Geny

of area 4

1 Lines not ruled or accurate
Accept provided the pupil'sintention is clear

/ Grid lines used as side(s) of shape

eg, for the first mark

1 Draws shapes for both grids with correct
areas that are not rectangles
Provided the given shapes are not repeated,
mark as 0, 1

1 Shows or implies the totals 6 and 4, but
Shapes are incorrect or omitted
£
* 6.4 seen
* Rectangles transposed but otherwise
Mark as 0, 1
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Paper

Correct response

Additional guidance

Completes all six entries correctly, ie
Area  Perimeter
Square A 64 )
Rectangle B 32 24
Square C 16 16

Completes at least four entries correctly

Completes cither column correctly

Completes any one row correctly

Gives an incorrect value for the area of square
A, but not 8, then follows through correctly, by
halving each time, to find the other two areas
e
. Area
Square A 60 (error)
Rectangle B 30
Square C 15

Gives the two columns transposed but
otherwise correct

t Follow through from part (a)
Accept as half their area of square A,
provided this was not 8, or their area of
rectangle B, provided this was not 4

Indicates that the perimeter is greater than
24cm and gives a correct explanation
s
= 848 + a number bigger than 8 is bigger
than 24
a The hypotenuse is longer than Scm and the
other two are 8cm
« The diagonal is the longest side so it is
greater than Sem
o 84 8=128,VI28>8

 Minimally acceptable explanation
e
* It doesn't have 3 equal sides
* The slope is the biggest side
The fold is 11.(...) (or v128)
© 128> 8
* The longer side is about 10
« The perimeter would be more like 26

1 Incorrect units inserted
Ignore

% Incorrect statement
e
* The longer side is 10
« The perimeter is 26

Note to markers: The length of the hypotenuse
is 11.3cm and the perimeter is 27.3cm, to 3 ..
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Tier s Queston

Pentagon perimeter
|

12]5 Correct response Additional guidance

m

m

Shows o implies that the length of one side is
5.dem +0,2em
e
" 544025een
n S4E2seen
= Answer of 26, 26.5, 27, 27.5 or 28 with
o evidence of incorrect working
u Answer of 260, 265, 270, 275 o 280 with
1o evidence of incorrect working

Shows or implies a correct method for finding
their perimeter
@
u Intention to mulciply their side lengeh by 5
u Intention to add all  of their side lengths
u Answer of 26, 26.5, 27, 27.5 or 28 with
o evidence of incorrect working
u Answer of 260, 265, 270, 275 or 280 with
o evidence of incorrect working
u 5.4 seen, answer of 25.20 (error)
u 5.4 scen, answer of 45 (error)
u 5 (error) seen, answer of 25

Gives the correct value for their perimeter
@
u Answer of 26, 26.5, 27, 27.5 or 28 with
o evidence of incorrect working
u Answer of 260, 265, 270, 275 or 280 with
units amended to mim, and no evidence of
incorrect working

Markers may find the following values useful:

Side length
5.1

Perimeter

52 2
53 265
54 27
55 275
56 2

 For the first mark, more than one value for
the side length is given

¥ For the second mark, follow through from
their side lengthis)

 For the second mark, response does not
show or imply an unambiguous or clear
method for finding their perimeter

t For the third mark, follow through from
their side length(s)
Accept follow through provided their
calculation involves ‘bridging the units'
eg, from a side length of 5.7 accept
285
eg, from a side length of 5.1 do not accept
25
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Tio & Question

Correct response

a m

‘Wites the leaves in the correct order ¥ Unambiguous indication
for area, ie eg, for part (a)

Willow Oak Beech w o B

smallest largest smallest largest

area area area ‘area
Wites the leaves in the correct order t Order given as largest to smallest for both
for perimeter,ic parts (a) and (b)
Mark as 0,1

Willow Beech Oak
smallest largest
perimeter perimeter

! Responses for parts (a) and (b) transposed b
otherwise correct
Mark as 0, 1
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Tier & Quesion

los|

Rectangles and squares

Correct response

Additional guidance

@

t Value repeated
Accept provided there is no ambiguity
eg, for part (a) accept

“abyd
for part (a) do not accept
caxd

t For parts (a) and (b), response of 16 then 20
Mark as 0, 1
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Tier s Question

[55as7es

Pentagon perimeter

Correct response

Additional guidance

im

im

Shows o implies that the length of one side is
5.dcm +0,2cm
r
" 544025een
n 4t 2seen
= Answer of 26, 26.5, 27, 27.5 or 28 with
o evidence of incorrect working
= Answer of 260, 265, 270, 275 or 280 with
1o evidence of incorrect working

Shows or implies a correct method for finding
their perimeter
@
u Intention to muleiply thei side lengeh by §
= Intention to add all  of their side lengths
u Answer of 26, 26.5, 27, 27.5 or 28 with
0 evidence of incorrect working
u Answer of 260, 265, 270, 275 or 280 with
0 evidence of incorrect working
u 5.4 seen, answer of 25.20 (error)
u 5.4 scen, answer of 45 (error)
u S (erron) seen, answer of 25

Gives the correct value for their perimeter
@
= Answer of 26, 26.5, 27, 27.5 or 28 with
0 evidence of incorrect working
u Answer of 260, 265, 270, 275 or 280 with
units amended to mim, and no evidence of
incorrect working

Markers may find the following values useful:

Side length
51

Perimeter

52 2
53 265
54 27
55 275
56 2

 For the first mark, more than one value for
the side length is given

¥ For the second mark, follow through from
their side lengths)

 For the second mark, response does not
show or imply an unambiguous or clear
method for finding their perimeter

t For the third mark, follow through from
their side length(s)
Accept follow through provided their
calculation involves bridging the units
eg, from a side length of 5.7 accept
285
eg, from a side length of 5.1 do not accept
25
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e Leaves
7
Comectresponse ‘Addiional guidance
AN e —— © Unambiguousindication
for area e e for pare 1)
Willow ouk Becch w o 5
e g e g
b[b] | [1m| were the caves n he corrceonder 1 Order givem as Lages 0 smaletfo b
for primeter, e parts(a)and (5)
Niarkaeo.1
s ouk
sl Tagess © Responses or pats (a) and (5) ransposed b
permeree pesimeter otberuise comect

Markas 0,1
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Tier & Question Rectangles and squares

[Es[eels7fe)
2417]8 Correct response ‘Additional guidance
afala| [1m| 4 t Value repeated
Accept provided there i no ambiguity
eg, for part (a) accept
<abyd
b(b[b| [im| s eg, for part (a) do not accept
cax4
! For parts (a) and (b), response of 16 then 20
Markas 0, 1

@
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Tier & Queston

Double shape

G
17]9 Correct response ‘Additional guidance
ala m| Indicates Yes 1 Incorrect units
and Condone
gives a correct explanation eg, accept
* 18cm, 9cm
‘The most common correct explanations: o189

Show or imply the correct areas
&
= The area of the rectangle is 18, the area of
the square is 9 and 9 x 2 = 18
= Ais18and Bis 18+

Refer to the space taken up by ach shape
™
= Two of the squares can fit inside the
rectangle
= 1 you draw a line down the middle of the
rectanle, you get two of the squares
® A holds twice as many squares as B

Refer to the ratio of lengths together with the
equal widths
@
® They are the same width but the rectangle is
twice as long as the square
" 6x3istwice 3x3

 Minimally acceptable explanation

s
18,9
* 2x9 (o double 9), 9
“ 18,1842

x Incomplete explanation
s
* The area of the rectangle is 18

¥/ Minimally acceptable explanation
B
* Aholds two squares
+ You cut A in half o get B
* Rectangle divided into two squares on
the diagram
* Lcounted the squares inside the shapes

x Incomplete explanation
B

* The area of A is twice the area of B
« Bishalfof A

« He's just added another shape on

* Tcounted the squares

¥ Minimally acceptable explanation
@
* Equal width, but the length is doubled
« Same height, but width is twice as long
“6x3,3x3

x Incomplete explanation
@
* The rectangle is twice as long as the
square
« Because A is 6 squares long and B is
3 squares long
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Tir & Question

Double shape (cont)

U

‘The most common correct explanations

Show or imply the correct perimeters
&
= The perimeter of the rectangle i 18, the
perimeter of the square is 12 but 2 x 12 # 18
= 2x9isnot twice 2 x 6

Refer to the distance around each shape
&
= The length around the edge of the square
‘goes more than halfway round the edge of
the rectangle

Refer to the rectangle’s additional lengths
&
= You only add two of the square’s sides to get
the rectangle, not all four
= It increased by 50%, not doubled
= You join two squares, but two of their sides
will be touching

e
17]9 Correct response Additional guidance
b|b 1m | Indicates No t Incorrect units

and Condone

gives a correct explanation eg, accept

* 18cm?, 12cm*

¥ Minimally acceptable explanation

e
18,12
*2x9,2x6
c1246,12
+ It 6em more but that's not double 12

x Incomplete or incorrect explanation
B
* The perimeter of the rectangle is 18
* AreaA=18,areaB=12

¥ Minimally acceptable explanation
N
* s less than double the perimeter of the
square
« Bs perimeter is more than half A
* Tcounted the distance round the sides

x Incomplete explanation
B
* The perimeter of A is not double the
perimeter of B

 Minimally acceptable explanation

* It has two extra lengths of 3, not four
* Its half as long again

. “These sides

‘are hidden

x Incomplete explanation
&
* It has two extra sides
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Side length

Correct response

Additional guidance

2m| 6.3 or equivalent

1m | Shows the value 25.2 or equivalent

Shows a complete correct method with not more
than one computational error

s

. 84x344

® (8448448454

= 844844842256 (error),
256+4=64

x For tm, necessary brackets omitted

e
© 8448448444
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Square tiles

Additional guidance

m

m

Correct response
Gives a correct value for the area of the rectangle
e

. se

- 5400

Shows the correct unit for their area
e

= cm? [with 54]

- mm? [with 5400]

1 Area incorrect or omitted, but units given

1 the mark for their correct area has not
been awarded, condone cm? seen for the
second mark
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Tir & Question

Double shape

Refer to the space taken up by each shape
@
= Two of the squares can fit inside the
rectangle
= 1f you draw a line down the middle of the
rectangle, you get two of the squares
= A holds twice as many squares as B

Refer to the atio of lengths together with the
cqual widths
B
= They are the same width bu the rectangle is
twice as long as the square
= 6x3istwice3x3

5763
17]9 Correct response ‘Additional guidance
ala tm | Indicates Yes t Incorrect units
and Condone
Bives a correct explanation e, accept
« 18cm, 9cm
‘The most common correct explanations: 18,9
Show or imply the correct areas  Minimally acceptable explanation
&
® The area of the rectangle is 18, the area of 18,9
the square is 9 and 9 x 2= 18 *2x9 (or double 9), 9
= Aisi8andBis18+229 ©18,1842

x Incomplete explanation
@
* The area of the rectangle is 18

+ Minimally acceptable explanation
B
* Aholds two squares
* You cut A in half to get B
« Rectangle divided into two squares on
the diagram
ounted the squares inside the shapes

x Incomplete explanation
e
* The area of A s twice the area of B
+ Bishalfof A
+ He's just added another shape on
counted the squares

V Minimally acceptable explanation

e
+ Equal wideh, but the length is doubled
+ Same height, but width i twice as long
“6x3,3x3

x Incomplete explanation
e
* The rectangle s twice as long as the
square
* Because A is 6 squares long and Bis
3 squares long.
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Double shape (cont)

Correct response.

‘Additional guidance

Indicates No
and
gives a correct explanation

‘The most common correct explanations:

Show or imply the correct perimeters
©
= The perimeter of the rectangle is 18, the
perimeter of the square is 12 but 2 x 12 # 18
= 2x9isnottwice2x 6

Refer to the distance around each shape

«©

= The length around the edge of the square

goes more than halfway round the edge of
the rectangle

Refer to the rectangle’s additional lengths

@
= You only add two of the square’s sides to get
the rectangle, not all four
I’ increased by 50%, not doubled
= You join two squares, but two of their sides
wil be touching

t Incorrect wnits
Condone

€8, accept
« 18, 12cm*

 Minimally acceptable explanation
Cien
“2x9,2x6

c12.612
« s 6cm more but that's not double 12

x Incomplete or incorrect explanation

@
« The perimeter of the rectangle is 18
+ AreaA=18,areaB= 12

' Minimally acceptable explanation

&
"+ 16 les than double the perimeter of the

square
« Bs perimeter is more than half A's
* I counted the distance round the sides

x Incomplete explanation
<
* The perimeter of A is not double the
perimeter of B

 Minimally acceptable explanation
@
* thas two extra lengehs of 3, not four

« e’ half as long again
. These sides.

=

x Incomplete explanation
%, 1 o e i
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Side length

e
l27[19]10]

Correct response

‘Additional guidance

2m

m

63 or equivalent

Shows the value 25.2 or equivalent

Shows a complete correct method with not more
than one computational error

Y

" S4x3ed

" (448448454

® 844844842256 (error),
25.6+4=64

x For m, necessary brackets omitted

e
© 8448448444
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Perimeters

Correct response ‘Additional guidance
Unsimplified expression or uncomventional
otation

e
L4218

tm| 7a43

0
c(2xa418)26
Condone

5 "

e
“ 4201846

1m| 24 1 Units given
Ignore, even if incorrect for 3 perimeter
eg. accept
« 24cm
* 24em’

x Incomplete processing
s
“4x6
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T
as
Mark Correct response ‘Additional guidance

m

)

Shows the value &

Shows a complete correct method with not
more than ne computationsl error

eg

* 72+12=8(emor), 10 x 8= 80

Two shapes
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Perimeter and area

Correct response.

Additional guidance

Indicates No and gives a correct explanation

“The most common correct explanations:

Quantify the areas

8
« The area of the hexagon is 6 but the

wiangle is only 4
= “The hexagon has two more triangles

Interpret ‘area’

= Different amount of space inside
= Different numbers of triangles

Identify which shape has the bigger area
B
= The area of the hexagon is greater
a The triangle has a smaller area

t Units given
Ignore

 Minimally acceptable explanation

8
* 6and4
* 2more

* Incomplete or incorrect explanation
©
* The hexagon is 6
* The hexagon has 5 triangles, the triangle
has 4
* The hexagon has one more shape in it
than the triangle

 Minimally acceptable explanation
o

* They have different numbers of shapes
« One has less triangles

eg, accept
* They have a different number of squares
inside

X Incomplete explanation that does not
interpret area
&
* Different sizes
* Different numbers of dots
* Different

/ Minimally acceptable explanation
% The hexagon is bigger

* The triangle is smaller
* The triangle has only 4
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T Shaded rectangle
18101 Mark Comoctresponse Adkitionl gridarce
m %

Im  Shows orimplies that the dimensions of the.
rectangle are Scm) and 10(cm)
g
©541045+10-30
* 10x10+2

Shows or implies the calculation 30 + 6or 30+ 3
e
*5+5+5+5+5+5-30
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Tor  Cumstion
v
MarkCorrect response
lll m 4

or
m

2

Shows 2 comact squation
)

o« antan10

e memtn+2en+2-100
. an=9

or

Shows or implies a complete correct mathod with
not more than one computational error

g

o (100-4)+4

%
)

Kite perimeter
Additional guidanco

X Necossary brackets omitted
g
©100-444

% For 1m, method used is trial and improvement
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More perimeters.
‘Additional guidance





image40.jpg
.HC—M:*-

Indicates No and gives a correct explanation that
shows or imples the amount that 11 olls wll
decorate and the perimeter of Kate's room

o
11 rolls papers 20m, but Kate's room is
21m altogether
* Aperimeter of 20m needs 11 rolls, but Kate'sis
‘1m bigger than that
* 6+45-105
105+105=21
‘with the table continued to show 20, 11
 To paper 21m she needs 12 rolls

‘Shows or implies that 11 rolls will paper 20m

?Amdmmu“nummxmk
bigger than that

o

‘Shows or implies the perimeter of the room is 21m

o
©45+6+45+6=21
. 25+6-21

States cleary the relationship between perimeter and

number of rolls needed

i

. For every 2m round the room it goes up by 1 oll

* To find the number of rols divide the length by 2
thenadd 1

Wallpaper
‘Additional guidance

¥ Minimally acceptable explanation
Provided there is no indication of an incorrect
method, accept
g
enn

e a0

o212

o 120l

1 more rollis needed

¥ Half rolls used.

Condone, eg for 2m accept
 She has 11 but she needs 11.5

1 Incorrect units given
ignore.

X For 2m, method used i direct proportion
g
 20mis twice 10m and the table shows that
‘would need 12rolls
* 14mis8rollsso2imis 12rolls
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Rectangle area

‘Additional guidance

or

Shows or implies the dimensions of the rectangle are

(am) and 10(cm)

or

Shows or implies the area of one X 4 soon but not linked to the area of a white
white square s 4(cm’)
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& Question

Perimeter and area (cont)

51]6-
Correct response Additional guidance
m | Indicates Yes and gives a correct explanation | 1 Units given
Ignore
‘The most common correct explanations:
Quantify the perimeters ! Perimeters measured

«
= The perimeter of both is 6
= They both have 6 along the sides

Interpret ‘perimeter’
T PER—
edges
o The number along the sides is the same
= Each side of the triangle = two sides of the
hexagon

Accept values between 8.4cm and 9.6cm
inclusive, even if units are not given

 Minimally acceptable explanation
B

* Gand6
* Both 6 sides

 Incorrect explanation
€
* They have 5 lines round the sides

 Minimally acceptable explanation
% i
+ Same amount of triangle sides
Same number of dots
Same number of points
Dots to dots is the same.
Same number of sides between the dots
1 counted around them

x Incomplete or ambiguous explanation
©
* They are the same size
* They are both the same
* They take up the same number of
squares
« Same number of sides
* I counted the sides
I measured them

1 Responses to parts () and (b) transposed
but othenvise completely correct, even if
there is incorrect use of wonds ‘area’ and

‘perimeter’
Do not award the mark for part (a), but
award the mark for part (b)
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[er & question| D =
bsfedls7[e-] rawing
e[ Correct response Additional guidance
alala| [im]| Drawsa rectangle of area 12 ! Lines not ruled or accurate
- Accept provided the pupil’s intention is clear
. 1by12
. 2by6
. 3byd 7 Edge of grid used as edge of shape
PREIT
bfb 1m| Draws a rectangle of area 12, with different
dimensions from one credited in part (a)
ele|b| [1m]| Drawsa wriangle of area 6
L
« Base 6, perpendicular height 2
« Base 4, perpendicular height 3
« Base S, perpendicular height 2.4
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Indicates No and gives a correct explanation

“The most common correct explanations:

Quantify the arcas
o«
‘= The area of the hexagon is 6 but the
riangle is only 4
= The hexagon has two more triangles

Interpret ‘area’

@
Different amount of space inside
« Different numbers of riangles

Adenify which shape has the bigger area
@
‘= The area of the hexagon is greater
« The triangle has a smaller area

Perimeter and area

e
 Gandd

* 2more

X Incomplete or incomect explanation
e

* The hexagon s 6

* The hexagon has $ triangles, the riangle
has 4

+ The hexagon has one more shape in it
than the riangle

ooy o e imbers of shapes
. wve diferent nus
+ One ha e rismgls

1t Inaceurate description of shapes in an
otheruise corect explanation
Condone
e, accepe
+ “They have a different number of squares
insde

X Incomplete explanation that does not
interpret area
£
* Different sizes
+ Different numbers of dots
+ Different

 Minimally acceptable explanation
@
+ The hexagon is bigger

+ The triangle is smaller
* The triangle has only 4
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Gives a correct simplified expression for the area

o
. 15
. 1Sxaxh

. 230+ SH)
. 6xas10xb
o 2x(3ae5H)

tm | Gives both correct dimensions in cither order,
e 4a and 3

Areas algebraically
Additional guidance

 Partally simplified or unsimplified

e, for the perimeter
* 20a) + 2(5h)
*2x(3xasSxh)
1 both expressions are correct but are
partially simplified or unsimplifid, mark as
0,1, provided ncither has
incorrectly simplificd

+ Expressions transposed but otherwise
comect and simplified
Mark as 0, 1

Correct dimensions embedded
Accept provided both the ara and perimeter
have been considered
e, aceept
12 daxda
14a = 2030 + 4a)

+ Dimensions labelled as length or widt
Ignore
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Perimeter and area (cont)

Correct response
Indicates Yes and gives a correct explanation

“The most common correct explanations:

Quantify the perimeters
@

« The perimeter of both is 6

« They both have 6 along the sides

Interpret ‘perimeter”

@
‘« Both have the same distance around the
edges
‘@ The number along the sides is the same
 Fach side of the triangle = two sides of the
hexagon

Additional guidance

t Units given
Ignore

+ Perimeters measured
Accept values between 8 4cm and 9.6cm
inclusive, even if unis are not given

 Minimally acceptable explanation
Y
*Gand6
* Both 6 sides

 Incorrect explanation
£
* They have $ lines round the sides

 Minimally acceptable explanation

Same length edges

Same amount of trangle sides

Same number of dots

Same number of points

Dots to dots is the same

Same number of sdes between the dots
T counted around them

X Incomplete or ambiguous explanation
£
* They are the same size
+ They are both the same
« They take up the same number of
squares
me number of sides
« Tcounted the sides
« Imeasured them

+ Responses to parts(a) and (b) transposed
but otherwvise completely corct, cven if
there is incorrect use of words ‘area’ and
perimeter’

Do not award the mark for part (a), but
award the mark for part (b)





